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JOURNAL 
 

Date Particulars L.F. Debit (Rs.) Credit (Rs.) 

2018 
Apr, 1 Radhika's Capital A/c                                             Dr  8,000  

 Bani's Capital A/c                                                        Dr  12,000  

 Chitra's Capital A/c                                                        Dr  4,000  
      To Profit and Loss A/c   24,000 
 (Being amount of  profit and  loss debit balance 

distributed partners) 
   

     
 General Reserve  A/c                                                     Dr  90,000  

      To Radhika’s Capital A/c   40,000 
      To Bani’s Capital A/c 

     To Chitra's  Capital A/c 
  25,000 

15,000 
 (Being General Reserve distributed)    

     
 Radhika's Capital A/c                                                    Dr  30,000  

      To Bani's Capital A/c   30,000 
 (Being amount of goodwill adjusted)    

     
 Land and Building A/c                                                  Dr  1,80,000  

      To Revaluation A/c   1,80,000 
 (Being an asset revalued)    

     
 Revaluation A/c                                                            Dr  1,80,000  

      To Radhika's  Capital A/c   60,000 
      To Bani's Capital A/c   90,000 
      To Chitra's Capital A/c   30,000 
 (Being profit on revaluation distributed among partner)    
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Working Notes 
 
Calculation of Sacrificing / Gaining Ratio: 
 
1.  Sacrifice Ratio = Old Ratio - New Ratio        

 

Partner Old Ratio New Ratio Sacrifice / (Gain) 

    
 
Radhika  
 

2

6
 

1

2
  

2

6
 - 
3

6
 = - 

1

6
 Gain 

 
    
 
Bani’ 
 

3

6
 

2

6
  

3

6
 - 
2

6
 =  

1

6
 Sacrifice 

 
    
 
Chitra  
 

1

6
 

1

6
  

1

6
 - 
1

6
 = 0  No Gain or Sacrifice 

 
 

2.  Firm’s Goodwill   = Rs. 1,80,000 
 

Radhika’s gain   = Rs. 1,80,000 × 
1

6
 = Rs. 30,000  

 

Bani’s sacrifice  = Rs. 1,80,000 × 
1

6
 = Rs. 30,000  
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